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INSTRUCTIONS FOR THE CANDIDATES :

1, The OMB Answer Sheet is inside this Test Booklet.
When you are directed to open the Test Booklet,
take out the Arswer Sheet and fill in the particulars
earefully with blue/black ball point pen only.

2. The test is of three hours durstien and consists
of 200 questions. Each guestion carries one rnark.
There is no negnbive narking,

3, Use Bluse/Black Ball Point Pen only for writing
particulars oo this page/marking responses in the
Arngwer Sheet, The candidate should remain careful
in handling the question paper and in marking the
anewers on the answer sheet, Another boaklet sct
virill mot be given.

4. Alsa ensure that your Test Booklet Serlal No. and
Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immedlately
report the matter to the Invigilator for replacement
af both the Test Booklet and the Answer Sheel.
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PART - I (®PT - 1)
MENTAL ABILITY TEST

e drmar ofieer

. Quastions : 1 to 50

Direction : {Q. No. 1 to i}

Select the right alternative which will

cdmplete the seriss,

1. -op -{-prl.pr-n-
(1)
(2)
@ plpprn
) pilpilnr

Iinlin it

Irnnip

2, x-yya-xzy - Ex-gV-zx-
(1)
(2)
(3)
(4)

3. QKF, %, KOD, HEC
() LHE
2 NHF
(8 MHEG
@) N1E

ZXYEYX
EYXYXZ
YREXYY
VEYXRK

4. EYFU HSIR KPLO,?
{(I) MNNM
(2) LOMN
@ NMOL
{4 NEOR
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3 (999 To 1 & 7a)
Faw ® g w7 T oy @ g

“np -{-pri-pr-n-
(1)
(2) lrnn lp

inin Ir

(3) pipprn

(dy plplnr

X - ¥¥Z - Xy - ZX - EY - £X -
(1) zxyxvx

(2} zyxvxe

(3] yxzxyy

4) yayoo

QEF, ?, KGD, HEC

(1} LHE

2 NHF

(3 MHG

(4) NIE
EVFUHSIREPLO.?
(1) MNNM

2y LOMHN

(3 NMOL

(4) NSOR
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A (4}

AVAY IR 5. | (°5 AVAYIRP,
ve A v, ¥2
AVA
@ @ (D) @ |\ A
() @ 3y (4 #Iﬁ
G, 05,72 52 7 21,10 6. 95 72 52,7 21,10
(1) 29 : (1} 20
(3 32 (2) 32
{3 35 {3} 35
(4) a8 (4) 38
7. 7. 15,82, 67, 188, 1 7. 4,15, 32, 67, 138, 7
{1} 257 {1y 2567
(2) 263 {2y 263
(3 279 (3) 279
(4) 281 (4) 281
8. IfC=3and DOG = 26, then TIGER =17 8, I C=2 3T DOG =26, ATIGER =1
{1) 43 {1) 43
(2) 48 (2) 48 >
(3) 67 (3) 57
(4) 59 @ 69
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9. In & row Ravi is 8th from the right,

10.

11.

12,

Mohan's place is Tth from the left side
and Anil is gitting in between the two.
Find the minimum number of boys
sitting in the row,

(1) 12

(2). 14
(3) 18
(4) 16

From the given alternatives find tha

word which cannot be formed by

using the letter of the given word :
EXPERIENCE

(1) EXPIRE

(2) RIPEN

(3 EXPERT

4 PRINCE

From the given alternatives find the

word which can be formed by using

the letters of the given word -
INTELLIGENCE

(1) CENTRE

{2y GENTLE

(3) CANCEL

4 LEGAL

Ifin a certain code language "HORSE'
18 written as 'JMTQG, how would
'POWER' be coded in the same code P
(1) QPXFS§

(2} NQUGQ

{3) RM ZD8

{4 RMYCT

NTSE(Level-1) Exam, MNowv, - 2015
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L,

11.

12,

AL R O e p—
W, W A A ¥ el wme T o
mﬁﬁﬁ#éﬁﬁﬂﬁﬂﬁfliﬁﬂim
oo e

(1) 12

2 14

(3 15

(4 16

EXPERIENCE
(1) EXPIRE
(2 RIPEN
{3 EXPERT
() PRINCE

ﬁqmzﬁﬂﬂifﬁaﬁﬂwiiﬁﬁ
Mt Re o= & amrdl o mam we
AT A 0 B
INTELLIGENCE

(1) CENTRE

(2) GENTLE

(3) CANCEL

(4 LEGAL

ufg hmhﬁ:wm 7 'HORSE' i

- IMTQG' Rrmn o &, ot et g2 W

7 POWER' f68 e Rver sy 7
(I} QFXFS ;
(2) NQUGQG
(3 RMZDS3
(4 RMYCT

Al LS
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9. In & row Ravi is 8th from the right,

%

1

I1.

13,

Mohan's place is 7th from the left gida
and Anil is sitting in between the twao
Find the minimum numhber of boye
Bitling in the row,

(1) 12

(2. 14
{3} 15
(4) 18

From the given alternatives find the

word which cannot be formed by

using the letter of the given word
EXPERIENCE

(1) EXPIRE

2) RIPEN

(3) EXPERT

4y PRINCE

From the given alternatives find tha

word which can be formed by using

the letters of the given word :
INTELLIGENCE

{1) CENTRE

() GENTLE

(3 CANCEL

4 LEGAL

If in a certain code language "HORSE
18 written as TMTQOG, how would
TOWER' be coded in the same eodp
(1) @PXFS

(3 NQUGQ

3 RMZDS

(4) RMYCT
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10,

11.

12,

L R T g —
T, W & s § e e o A
A I F A RO s A oan
A wn B a2 8 2

(1) 12

(2 14

(a) 15

(4) 18
ﬁqmzﬁﬁﬂﬁiﬁaﬂﬂaﬁiﬁm
PR BU o osm $ oad aowm g

TET GAE W T |
EXPERIENCE

(1) EXPIRE

Z2) RIPEN

(3 EXPERT

M) PRINCE

muﬂqﬁﬁﬁfTﬂaﬂﬁﬁiﬁgﬁi
Fr Bo moower & el a1 mhn =0
TN B T B
INTELLIGENCE

(1) CENTRE

(Z) GENTLE

(3) CANCEL

4 LEGAL

@2 Pl %z wm § HORSE W)
IMTQO' fermn s B, o o 52 W
% 'POWER' Ta W Rray ame 7
il) QPXFS '
(2 NQUGQ

(@ RMZDS

() RMYCT

G - -
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A
Direction : (Q. No. 13 & 14)

These questions are based on the following
nformation '

Sachin walke 12 km towards East and turns
to his right and walks 8 km. Then he again
took right turn and walks 6 km.

-
13. How far is Sachin from the staWing
pont 7
(1) 6km
7 . (2) 8km
(3 10 km
(4) 12km

14. In which direction is Sachin going at

the end 7

(1) East {Z) West

(3) North (4) South
Direction : (Q. No. 16 & 186)

These guestions are baosed on the following
infarmation :

Five girls are gitting in a circle facing to the
centre. Seema is gitting immediately to the left
of Veena, Anjali is sitting between Dipti and
Veena. Babita is sitting to the right of Dipti.

15. Who is sitting between Babita and
Anjali ?
{1} None
(2} Seema
(3) Veena
(4) Dipti

NTSE(Level-1) Exam. Nov. - 2015
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A

Direction : (Q. No. 19 & 20)

Study the trend of the numbers and find the

missing number from the given alternatives,

14,

20,

21.

12 7 11
10 . B 14
7 ?
8 1 i
(1} 3 2} 4
(3) & 4) 6
3 4 kL
4 g 55
8 ? | 252
(1) 8
(2} 5
3 6
4 7

Suresh snd Kailash are brothers,
Rajani and Shubhra are sisters
Buresh's son 18 Shubhra's brother,
How is Kailash related to BEajani 7

(1) Fathar
(2) Uﬁa

{3y Brother
(4) Nephew

NTSE(Level-1) Exam Nov. - 2015

(8)

Frder » (v do 19 ©F 20)
FEaT @ afy & ererg #io offt Ru A

R & & gw e an e
1. 2 | 7 | m
10 : 14
8 17 ?
1y 3 (2) 4
@ 5 (4) 6
.l 4 3
4 o8
8 | 7 252 |
(1) 3
(2) 5
@ 6
) 7



22.

23,

Z4.

In the figure pgiven below which
number represents Honest and
Hardworking Youths 7

Hard
warking

(Z) 6
(4 4

(1) 7
(3) &
In the following equation, two signs
need to be interchanped to maoke it

carrect, Choose these signs from the
given alternatives,

Jo+B6x10+5-2=863
(1) +and-~
{2} +and+
(3) xand+
4} —and =
If ' means ', = means '+, "
menns =, and +' means "+, then
16+86-4x2+23="7
(1) 14
(2) 22
(3) 26
(4) 72

NTSE(Level-1) Exam. Nov, — 2015

(9)

23.

24,

P
— gt
I 7 (2) 6
(3) 5 (4) 4

=1 & #@ "l s & R 9
Fogdl # ows-aew # H oEEw
Bl Ay om Bt 4 A w R oW

g
36+08x10+5-2=63
(1) +alr-
() +aT+
x T +
=

(3
(4
o o e R, e
o dr e wmadb oy &
16+56—4x2+8=1

(1) 14

(2) 22

(3) 26

(4) TZ

F. T O,



25. Atul is younger than Rajesh but elder
than Jagan and Suman who is elder
than Shyam. Privanka is elder than
Avinash but yeunger Lha_n Shyam.
Who iz the eldest and yvoungest of all
reapectively 7
(1), Rajesh - Avinash
(2) Atul - Avinash
{3} Rajesh - Privenka

{4) Atul - Suman

26, Identify the diagram that beat
represents the relationship among
classes given below :

Guava, Mango, Fruits

» OO0
®©)°

(3}

(4)

NTSE(Level-1) Exam. Nov, - 2015
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Direction ; (G, No. 27 & 28)

Take the given statements as true and decide
whiek of the conclusions logically follows
from the statemeny -

a7,

28,

Statements »

L Al tables are chairs.

2. Nochairis a pen,

Conelusion : 1. No table is a pen.
I1. Some tables are pens.
II1. All pens are tahlas,

(1) Only conclusion I feliow

{2) Conclusions T and 111 follow

(3} Conelusions IT and TIT fallow

(4) Coneclusions I, II and I0I all fallow

Statements ;
. A pen i3 equal to Peneil,
Il. Pencil is longer than Book,

III. Book and Pen sre not greater
than or equal to Rubber,

V. Bag cdn contain Book.

Which of the following infarence is
correct 7

(1} Bag may or may not contain
Rubbar.

(2) Pen is not longer than Bagk,
(3) Peneil is equal to Rubher,
{4} Pencil is greater than Rubber.

NTSE[LE.‘FEI-I:I Exam. Nov, - 2015
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A

Frer ¢ (997 Ho 27 od 28)
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27.

28,

o
1w A i B
2 B d ol wm B
Freed o 1 =i o ¥ w98 b
L. %8 ¥ am ¥
LI wet %o &9 ¥y
(1) Fa Frepd 1 P &
(2) Pl [ af 11 ey B
(3) Freed 11 oftr 111 Pygmd B
(4) Pl 1, 11 & 100 o P B

FET
L &m v ofFam o ¥
. e gers & ol &

1. 95/ o &od @2 § 92 O e
GE

V. 5 & gw T o ae B

Freaifas & & dar Pred 7
k7

() & 7wy W wrow A oo
AT B

(2) ®m, T | et ot
(8) W mE & wm R
(4) Faw mE & o b

P.T.0,



A {12)
i

28. Belect the answer figure which ia
exactly the mirror image of guestion
figure when mirror is held at x.

Ruestion Figure ;

NECK

T

m (N3OA
@ M3CA
@ (AO3IN
@ INOIN

30. Choose the correct answer figure to
complete the given matrix.

QAT

E@?A
b A A
§$?ji?7’

NTSE(Level-1) Exam. Nov. — 2015

20, 0 TR amgh W ai'lmarrrﬁﬁ
= e a0 wihRe €, AW a0 ay e
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A
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(13)

41. How many triangles are there in the
following figure 7

(1) 15
(2) 20
(3) 24

{4) 25 or more

32. Among the four answer figures, which
one can be formed from the cut out
picces given below in the Question
Figure 7

O
@ iﬁl@
DB

NTSE(Level-1) Exam. Nov, — 2015

31. A & sl § Bre B ¥ 7

A

(1) 15
(2) 20

(@) 24

(4) 2597 s




A (141

33. Which answer figure will complete 33, HE-A 9 -EIIQ?'FH o Gﬂiﬁﬁ"l' + ofen
the pattern in the Guastion Figure 7 ot gu s
e b
= ; |
% ?
“}E# i{mz {1:|Er E{E} »
I . E I ,._" B
3y F 1) L (3} 1 (4 4
34, From the given answer figures, select a4. @ 7 oy AREl ¥ § 39 ogE W
the one in which the Question Figure e, Frd wee argia fordt s B -
ig hidden/ embedded :
Question Figure : RET ST ¢

¥ 2y

(1 @
B

BB -8

NTSE(Lewvel-1} Exam. Nov. - 2015




Direction : (Q. No. 85 to 41)

Select  the related letters/number/figure
from the given aliernatives :

85, GJMP : FHJL = FILO : ¢
(1) EGK]
(% EGIK
(3} GEIE
(4) GEEI

d6. JHFC: bGegK = 7: tWey
(Iy ZVUS
@ XuUvw
@ XuvT

4 XWVU

37. PALE:LEAP: POSH .
(1) OPHS
{2) BHFPO
(3) SHOP
(4) HEPO

38. GOB:621:7:470
(1) 257
@) _35:?_
(@) 875
) 40z

NTBE(Level-1) Exam, Nowv, - 2015

(13)

A
T (957 Ho 86 T 41 79)
Re m¢ fmilt & & walfw onre s gl
g

36. WJMP : FHJL :: FILO : 7
(1) EGKI
2} EGIK
(3 GEIK
(1) GEKI

36, JHFC : bGgK = 7+ tWeY
() ZVUS§
(2) XUVW
@ XuvT

(4 XWVU

37. PALE: LEAP : POSH .9
(1) OPHS
(2) BHPO
(3 SHOP
(4) HSPO

8B. B0B:621::7: 470
() 357

@ 367

(3) 875,

(@ 402

P.T.0O.



A {16)

89. 17:136:7:152 89, 17:136:7:152
(1) 18 (1} 18
{2} 19 (2) 19
(3) 21 (3 21
4 23 « . V=
46, 943:7::729:7

40, 3437 T80T

(1) & (1) &
(2) 8 (2) 8
{(3) 9 (3 9
(#) 13 (4) 13

41 A%&:&&ﬁngﬂjﬂ i A%&:A&ﬁ::%ﬂ

m oD o oO(D
@ @ @ @
O O
B @
@ O @ O
@ @
O 0
@
(4) (% (4) 2
@ @&
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Pirection : (Q. No. 42 to 48)
Select the one which is different from other

three

43,

43,

44.

46,

HTEE(I;E‘FHI-I} Exam. Nov. - 2015

(1)
(2)
()
(4)

(1)
(2}
()
{4)

(1)
(2)
()
(d}

(1)
(2)
(3
(4)

(1)
(2)
(3
(4)

FLHD
JPLH

PWRN
sYUQ

GHTS

NOQP
VUEF

ERFS
HUIV

43
53
63
78

9-16

21-30
ah-44
47-66

(17)

fer : (w7 Ho 42 & 48 %)
o gl at s T 7 fre &

4z, (1)
(2)
(3)
(4)

43. (1)
(2
(d)
(4)

4. (1)
()
(2
)

45. (1)
(2)
(3)
4

46. (1)
(2
(2
(4)

FLHD
JPLH i
PWRN

SYUQ

BCYX
GHTS
NOQP
VUEF

ANBO

ERFS
HUIV

9-16

21-80
35-44
47-66

P.T. 0.



A

47. (1) 85-1%6

48,

49,

af.

(2) 49-343
(3) 9-27

(4) 36-226
My @ g
(5) % (4 b\f‘n

Amit 13 elder by 3 veare to Eahul.
After 10 years Amit will be thrice his
present age and Rahul will be six
time of his present age. How old 18

Rahul ¥
(1) 5 yeara
(2} 4 vears

(3) 3 vears

. 4y 2 yvears

VWhich number is wwrong in the given
series 7

a, 12, 24, 96, 190, 768, 1536

(18)

47.

48,

49,

&0.

(1) 25-125
() 49-343
() 9-27

(4) 36-226

Wy @ ¢\

{3) % (4) "F

A oy 0 mEw & 8o oEm ¥ 10

o g A ® g AT ST g
= dr Tgw A oemyg Al i
g # B T ) Tgw W o
B7

(1) 5 a4

(2) 4 7

(3 3 od

(4) 2 a9

gt dEn & 7 e F e b 7

4, 12, 24, 96, 190, 768, 15636

1 24 (1) 24
() 96 @ 96
(3) 180 @ 190
(4) 768 (4) 768

NTSE(Level-1) Exam. Nov. - 2016



(19) A
7ie - FL.OR.aT, siE § us 1 3 auim 10 § HTST e sy WY
" PART - II (9777 - 11)

LANGUAGE TEST
AT gHegor
b SN
e : (9 Ho 51 A 53 7=) A%+ (957 fio 54 w3 55)
By =t @ g= wmE ¥ # a@ sier @ ail & gfe & @ wer o vy S
T o & qanew o ol s 2y
54. (1) wEmEE
51, ¥
: (2) AETTE
(1) 359 7 g |
e (3) aguTn
) (4) TEOTE
(4) @ e 55. (1) sfsaE
62, S (2) SRR
(1) =%
(3 s
{2) o o
@ g (4) sereiia
(4} T3tE
56. YaEifeT Sy F ¥ @ W emen
53. ATE ¥ B 95 ST SR %7 T i
(1) wfEa & ofe (1) Fear Sy
(2) TFRTEIT wE (2) A gy
(#) I T ufE (3) Prdter qewy
(4) = &9 (4) Frmriadme gedy
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A

57. R M= T wmm w e 7

(1) #E (2) T

(3) T (4) o=
frdsr ¢ (v wo 68 U9 59)
[l e ¥ gEw qy s 8w e

T # o 1w 5T e ae Aeey §
&7 & gEt e N T

58. () EW & @l W % W P A
8 1

() cvisevres

(i) 3T @rM-wE wWogvm w0 f
HER & Y w5 )

(1) =z w A o R
(@) ¥ W L W A A A b

(3) art # feafewer g@m w9 9w o
ti

(4 Tt o A fesfem @ #)

Gy == ot fidl R = W
o qY w5 amt & g 4

G4,

(i)
(iif) 1% A= B TR = T 4 Al
Y O H e

() FE e # W@ oaEls W oo @
5 e |

(2 T wm e oW o =g i
H AT |

- (3) T v oo F= o s TE )

(4) o o= W oW oW W TR AT
ol T |
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(20)

60,

fil.

62,

63,

95 P A S
(1) wifew o S = 99 HEg #

(2) witr oft M T 9T 79T ¥
3y aiftm it dma = e w6 ¥
() wEm A dlEm | afre w39

‘T = oW oAl ot Res R
(1) B+ M+ T+ HA+7 + &
2 F4+T+T+FT A +T+H
B F+T+T+H+T + &

4 B+T+F+T+E+A+T+H

Frfafm & & g2 o @ =9 &
(1) 7.
(@ @
@ =

(4) =

i A W e O ool B o @
o g AR ¥

(1) S H fm o B u9E
(@) & g FE e
(3) UF O B g AW =g
(4) E-9 AT




(21) A

68. T F f-m w7
64. ‘TR = 7 oy Bredg B - iz

(1) T + g7 (1) Tge
(2) I + T (@) ==
Eﬂ:-m+gaﬂ__ (3) T
R ™ (4 ot

. R 3
65. R o= 7 ofv oy 7y 7 i AR R

1 (1) TS
S (2) T
(3) TgfET P
W {4) TS
66. ‘TR @l # 7 s A & w R 0. M RY W gl @ apbs w3
Br & oo B ol
@ = ¥ O TR A ket g o
(2) &5 i B F & |
(3) a5 aEEd b fﬁ]g*?'fﬁ“?fﬁmﬁamﬁm
i ) omrd ot Pt Ber 2uty
o Eﬂﬁmﬁﬂ?ﬁmﬁﬁﬁﬁqﬂm ﬂﬂ'?@?ﬁt;ﬁﬁﬁﬁﬂmi
| Py &7 7y & B
T g (V) 739 % gt F w9 @ T w
(1) HTE B9 B TR §
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(27}

e —

PART - II (17 - 11)

LANGUAGE TEST
AT qET
i Juestions : 51 to 100 (English Language)
ik . ... ekt S =
Direction : (Q. Nﬂ_ &lto 55) 62, Why 1z it difficult to persuads
Em::_.!he f‘:,'!"':"":;g -",‘;ﬂ“g" and answer the mothers not to wrap the lunch boxes
questions given after i, : . .
In a metropolitan city, the worst offenders e ﬂ_mr “:mnl tring ddldese o
are the upper income group of the so-called plastic bags !
rosh  eolomies. Though educated, the ) .
residents of these affluent areas are (1) Because children like colourful
unaware of the damage done by the plastic plastic bags.
bags. Nearly a million children in the eity )
achools carry their lunch boxes in plastie (2} Decause the plastic bags cost
bags. They callously throw them away and them almost nothing.
cause unhealthy environment. _
AR it 1e convenient for mothers to wrap the (8) Because if they den't do it, their
food in plastic so 1t is difficult to persuade children get late,
them against deing this. When the midday -
meal scheme is fully implemented, it must (4} Because mothers find it
be seen that no plastic wrappers are ussd, convenient to do so.
As these wrappers are light in weight, they
are born aloft by the wind causing visnal _
shocks. Unlike cotton or paper bags they 53, What care should be taken while
remain undissolved in the mud and stop the ; ; i 1
rain water from seeping deep into the earth, implementing  the midday mea
This affects the natural growth of greenery, scheme ?
51. How do school children in the (1) Parents should take an active
metropolitan ety gpail the :
environment 7 part in the scheme.
(1) Thﬂj" carry their lunch boxes in _
plastic bags. (2) ™o plastic wrappers should be
(2) They eat their lunch in the used.
Jgchoaol.

{(2) After eating their lunch, they

w Bway the plastic bags
carclesaly.
(4) After eating lunch, thevy don't
wash their hands.

NTEE(Level-1) Exam. Nov. - 2015

(3) Nao child should be left unserved.

{4) No teacher should partaks of the
food.

F.T.O.




54. How do plastic bags affoct the natural
growth of plants 7

(1) They don't let the roots absorb
water from the anl

(Z) They stop the light of the sun
from reaching the plants,

{3} They take up much of the water
from the sail,

{(4) "They stop the rain water from
seaping down into the earth.

55. What is meant by the word
eallously’ !
(1) without any feeling of pride
{2) without any feeling of sympathy
43 without any feeling of jealousy
{4} without any feeling of joy

Direction : (§. No. 56 to 60)

Read the following stanzo of o peem and
answer the questions given after il.

A lily of a day

Is fairer far in may,

Although it fall and die that night-

1t was the plant and flower of light.

In emall proportions we just beauties sos:
And in ghort messures life may perfect be.

NTSE(Level-1) Exam. Nov. - 2015
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6.

¥,

as.

59.

ALY EOWE T v bawaas s sonn im 1 i
(1) summer (2 winter

(3) spring {4) aubumpn

The life spanof a hily i ...

(1) one hour (2) one month

{3) one year (4) one day

Why does the poet call lily ‘the flower
of light' 7

(1) Because it is light in colour.

(2} I_lmuae it is light in weight.

(3] Because it gives light.

(4) Beeause it gives joy and
happiness.

Perfection can be aehieved

{1) in afew days
{2} in s0 many days
{(3) in & short span of time

(4) in a long a.:pmi of time

What is meant by the phrase ‘small
pmpurtinnﬂ'?

(1) small objecta
{2} small flowers
(3 small fuits

{4) emall treca



Direction ; (§. No. 61 & £2)

The follounng five sentencea come from a
paragraph, The firsgt and the last sentences
are given. Choose the order in which the four
sendences (I, U, V, W) should appear o
complete the paragraoph,

n-.llﬂ-I.II 51 Dowry related crimes ara on the

increase.
. P ———
B | oot i
BB v

5€ Bo all women should contribute in
washing out this stigma from the
face of our society.

T - Education of women is a must to
eradicate this social evil.

U - It also appeara that this problem
has to be @solved by women
themealves,

V¥ - Most cases arise out of lack of
mental toughness among women.

W.-The awarenesa level of their
rights haa to be raised.

1y WVuT
() UVWT
(3) TUVW

(4 VTWU

L]
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A
62, B1 Evervbody agrees that something

should be urgently done to arcest
the rise of pallution.

34

56 Besides, the laws of Buro 1 and
Euro 2 should be strctly
enforeed.

T - ¥et not many people are really
doing something for it

U - It is advisable to use a public bus
rather than a private car.

V - We should not use a wehicle
unless we must.

W - We ghould try to minimize the
use of vehiclea,

(1) TWVU
(2 TUVW
@ WVUT

4 UWTV



A
Direction @ Q). Na. &3 & 64)

The following questions have the second
sontence missing. Choose the appropriaie

senlence from the given options fo complete
1.8

63. A. Thoughtleas folling of trees and
indiseriminate deforestation has
plaved with rain cycle.

C. Otherwise, our earth will become
a barren and lifeless planet.

{1} On the Van Mahotsava day, we
should arrange meetings to think
ahout our country people.

{2) The deforestation has decreased
rainfall

(3} Today we need to consume the
existing green cover and to plant
more trees.

{(4) Our scientists  should do-

researches on rain eycle,

4. A Children usually play on the
roads and never bother about the
moving vehioles.

B. .......... pAEEFERS &

C. They must not do eo as they
jgnore the vehicles coming and
going and riak themeslves.

NTSE(Level-1) Exam. Nov. — 2015

(30)

(1) The road users and others must
not at any cost cut it shovi by
ignoring traffic rules.

(%) Life, indeed ia veary precious

(3) Young people look at driving as
anjoying.

(4) Playing on the road 15 really
dangerous.

Direction : {§. No. 65 te 72}

Choose the word which best fills the blonk
from the four aptions given.

6.

66.

87,

In the Dorth-east ....coomsrsesiami
Mountains of clouds could be seen
approaching,

(1) bag (23 huge
(3} high {4} long
Education was safe and ......ccoonienne

from social evils earlier but this ia not
true today,

(1) flourished (2 protected

{#) influenced (4) immune

.

Abolishing untouchability 18 &

Pl i s o the Father of
Mation,
f1) thank (2) trust

(1) tribute (4) tribe



68. Mahatma Gandhiji always exhorted
PEORIE 0 e aens vialence
(1) shun (2) stop
{3) shut (1) stag

60, MNelson Mandela was pleasantly
...................... by dignitaries and
world leaders who were coming to pay
their respects.
(1) besieged
(2} behawved
{3) bestrided
(4] beleaguered

70. Polythene shopping bags and
wrapperda are a big threat to our
sewer system. They can ..o
drains and disrupt our sewer aystem.
{1) choe (2} chock
(3} chowk (4) choke

71. '"The Bamayana' is the .....cccieenn
book for Hindus,
(1) great f2) sacred
(%) refined (4) remarkable

TR, . W WePE voviciniiinianiossnusebise inside the

E'IE\?E{-I:;I when it stopped bhecause
thers was a power cut off.

(1) trapped

(3) rocked

(2) jammed

(4) ecaught-

NTSE(Level-1)-Exam. Nov.-2015
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Direction : (. No. 73 to 83)

fn the following possoge there are zome
numbered blanks. Fill in the blanks by
sedecling the most appropricte word for each
blank from the given opfions.

But then | slowly saw that not only was I
not free but my brothere and sisters were
not free. I saw that 1t was not just my
freedom that was (73)...... but the freadom
of everyone (T4)..... looked like I did, That is
when [ joined the African National
Congress, and that i3 when the hunger
(T6)earens my own freedom hu:r:uma the greater
hunger for the freedom of my people. It was
this desire for the fresdom of my people to
live (76)...... lives with dignity and self
animated my life, that
transgformed & frightened young man into a
bold one, that drove a law-abiding attorney
to become A criminal, that turned a famaily-
loving husband (78)......a man withoat a
home, that forced a life loving man to live
Like a monk. I am no moré virtuous or self-
emerificing (79)......the next man, but [ found
that I (B0)..... not even -enjoy the poor and
limited freedoms I (81)......when I know my
people (82)......not free,

78. (1) briefed (2) trimmed
(3) curtmiled (4} shortened

74, (1) who 2y whom
()] t];lﬂt (4) which

P.T.O.



6. (1) of (2) to
(3) with (4) for
76. (1) Their () your
(3) his {4) our
77. (1) who (%) what
" {3) 'that {(4) this
78. (1) im {2) Into
(@) to {4) with
79. (1) for (Z) as
(3) then {(4) than
80. (1) can (2) could
(3) will (4} would

Bl. (I} em allowed

{2} have allowed
(3) had allowed

{4) was allowed

B2, (1) were {Z) waa

(3) are (4) ba
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Direction : (. No. 83 to §5)

Choose the appropriate phrosal verbs lo
complete the senfences,

B3. local residents were angry at not
Beklg . ciivisiaanin on the new
= housing proposal.

{1) broughtup (2) brought dewn

(3) broughtin {4) brought out

4. They ................ on the last stage of
their journey.
(1) eetout (2) setin
(@) setoff (4} set up

B5., These shoee are 20 small that you

PUMETEE s i i o i theae
(1) get out {2) get away
get into (4) getup

Direction : (@, No, 86 to 85)
Select the meaning of the given
phrases /idioma.
86. Any Tom, Dick or Harry
(1) any three persons

(2) any person from a weatern
country

{3) any ordinary person

(4) any cne of three different peraons



(33) A

87, DBe raining cats and dogs 91. When we saw a snake in the class
(1} to be raining with thunder and room, cur entire class started to
Lightning = | e in its boota.
(2) to be falling cats and dogs from (1) quick (2 nquake
ha
ey (3) guack {4} gueuve
(3) to be raining on cats end dogs
(4) to be raining heavily 92, We are trying Eo appoing ......eceeose
A8,  Siaall & vat gualified teachers in cur schools.
(1) to suspect that something is (D) intelligently () heavily
WIODE {3 highly (4) strongly

(Z) tocome to know presence of a rat

83, You will h B wmickly if
(3} toamell like a rat ol reach Bombay q v if you

travel By B covieiscimirsiimiinsanaes frain;
(4) tofeel an unpleasant smell
(1) quick (2) speedy
Direction : (G, No. 83 to 83)
(3) rapid (4) fast

Select the most approprinte option lo fill in
the blanks from the given aliernalives.
Direction : (). No, 34 & 35)

§9. 1 have started to jot down the facts in .
Select the word which means the opposite of

i T e the way- most

peaple do, the given word.

(1) dire {2) dare 894, Different

. (3) dairy {4) diary (1) indifferent (2) combined
0. This road :I:.iean't ................... to (3 similar (4) separate

Delhi 95. Prevent

() g0 ) walk (1} allow (2) order

{3} run 4} lead

{3} command (4) begin
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A

Direction : (Q. No. 96 te 100)

Rewd the following passage ond answer the
quesitons given after i,

Our earth is like a greenhouse, with one
difference. A greenhouse is encased in glass,
while the earth is encased in a thin blanket
of carbon dioxide (CO,;). This carbon dioxide
serves the same function for the earth as
does glass for a greenhouse. It helps to keep
the earth warm. Scientistsa call it the
'gresnhouse eﬁi:'t_', The amount of carbon-
dizatide in the air is only 0.03 percent, yet all
plant and animal life depends on it. The
percentage of carbon-dioxide in the air is
k.;apt, almost constant by a seriea of natural
orocesses, We call it the carbon (or carbon
dioxide) evcle.

86. What is a greenhouse 7

(1 A house in which green plants
have been grown.

{2) A case of glass in which fish and
other watar a.nimnls can be kept.
A building with glass sidea for
growing plants that need
protection from sunlight.

A building with glass sides and a
glass roof for growing planta that

need protection  from  cold
weathar,

(3}

(4)

97. How does the earth differ from =

gresnhouss 7

(1) The greenhouse is encased in
glass, the earth in a thin blanket
a of carbon dioxide.

(33 The greenhouse iz enecased in
carbon dicxide, the earth in a
ghest of thin air. "

(34}

HE

pa.

100,

{3 The greenhouse is too small, the
carth too big for green plants.

{4) The greenhouse can be carried
from one place to the carth but
the earth ean't be earried.

Carbon  dioxide serves the same

function for the earth as

(1) The greenhouse u:Fr&& for glass.
(2) lass does for the greenhouse.

(3} Glasa does for ca.tl-bc-nldimdda.

{4y The earth does fmI: carbon dioxide.

Glass helps keep the

{1} Wwarm (%) lighted

(3) conl (4) safe

The carbon cycle iz a geries of natural
processes that help ..........

{1) Ta keep the air free from

pollution. .

(2) To increase the amount of carbon
dioxide in the air.

{8) Mo keep the amount of carbon
dicxide in the air almost
constant.

{4) To reduce the amount of earbon
dioxide in the air.
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101.

102,

103.

114,

Guestions : 101 to 200

{35)

PART - 11 (977 - 111}

SCHOLASTIC APTITUDE TEST
giferss gieger giieo

The correct order of radii of three
SPeCies :
Ca, Ca®, Ca™ ia
(1) Co> N ="
(% Co"=Co*>Ca
{3) Cq = 0Ca=>Ca™
(4) Ca" >Co™ >Ca

Read the [Wllowing statement and
rhiose the correct oplion.

(7) Calclum is present in the bones
of animals and human beings as
sulphate

Heating Calcium carbonate to
1OT0K - 1270K gives guick lime
Aluminium is not affected by dry
air

only {a) and (g} are true

only (o) and (k) are true

only (b) and (c) are true

All are true

()
(c)

(1)
{Z)
(3]
(4}
Temporary hardness of water is dus
to compound *A' and can he removed
by adding compound 'B'. A and B
respectively can be

(1) Mg(HCO,), CaCl,

(2 CaS0, HCI

(3) CaCl, MgS0,

(4) CafHCO),, CalfOH),

Match the Oolumn I and I1.

I 11
{a) Asroeocl i. Shaving cream
(b} Foam ii., Face Cream
{£) Gel iii, Clouds
(d) Emulsipn iv. Jelly
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101.

102,

103.

Fr= di9 el 8 Bomell @ ol &
B

Ca, Ca’, Ca®
(1 Ca>On =Ca”™
(2) Ca* > Ca">Ca
3 Ca’ > o> Ca®
(4) Ca' > o™ > Ca

L.l

i} mmmmﬂﬁﬁﬁ?ﬁ
# gege & =7 °§ U AR 3

(h) Sfegon FEFT 1070K 8 1270K
o T FT 97 PEE Ay R

t-:};;"qﬁ‘fﬁwgﬂﬁ

;

gl # o SRR W S AR
A F A 3R A R IW S O
o uEa 21 A AT B o 2

(1) Ms(HCO.), CaClly
2y CaS0, HCI

(8 CaCl,, MgS0,

(4) CafHCOg,, CafOH),

104, FEm 1 & I 7 e S50

1 I
(a) Em i g e
L i, e #m
] st iii. HEH
(dy EEETT v, o
P.T.O.



104.

106.

107.

108.

a b o d
(1) 1L, 1, 1, iw
(2 s, I v, iik
(8) i 1, v, 1§
(4) 1, v, i, i

Two oxides of an element comtain
67.1% and T2.7% of oxygen. If the

first oxide 15 MO the second is ¢
(1) M0 @ MO,
@ M,0, (4 M,0,

The atomic mass of an element is 19,
The second shell of its atom contain 7
glectrons, The number of protons in
ita nucleus is :

(I 9 {2) 10
& 7 (4 12
Hydrogen gas is not liberated when

Pb is rescted with Cone. HNO,;

because :

{1) Pb is less reactive than hydrogen.

2) Pb 1= reactive than
hydrogen.

(3) “Cone, HNO, is strong reducing
_agent.

(4) Conc HNQy is strong oxidising
agent.

mare

The correct order of increasing

basicity in the following may be :
(1) Ba(OH), < CalOH)y< Mg(0H),

< Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),

< Ba(OH),
(3) Ba(OH), < Mg(OH), < Ca(OH),

< Be(UOH),
(4) Mg(OH), < Ca(OH), < Be(OH),

< Ba(OH),
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1045.

106,

107.

108.

(1) iii
(2 #, i, iv, i
(3 i, i, fv, i
4 i, v, i,
o o9 % g ofiTWEE W wNe 57.1%
7 72.7% aifFd b oaf uwen oftmmge
MOE® A0 RS &

(1) M0 @ MO,

(3) M0, 4) M0,

Pedl o W AN AR 19§ aEe
Tt = F 7 g § & g A

¥ HEE A e g
(1) 9 (2 10
(@ 7 {4) 12

P i 7% ®iEg HNO, ¥ B B A
kot eeEem ol P, =1

(1) Pb wEEEE & %9 femdw &
(2) Pb emgiem @ alaw frnstie &

(3) ®WE HNO, wad SIENF T

(4) |iE HNO, TE7 S &

frer % et g wiln ol F agEr
H‘u’fﬂ?’rﬁﬁ'ﬂi‘.

(1) Ba{OH), < Ca(OH);< Mg(OH),

= Be{OH),
(2) Be(OH), < Mg(OH), < Ca(OH),

< Ba(OH),
(3) Bal(OH), < Mg{OH),; < Ca(OH),

= Be(OH),
(4) Mg(OH); < Ca(OH), = Be(OH),

< Ba{OH),



104,

114

111,

112,

113.

A gas on passing through ammonieal

"AgNO, does not give any praﬁpﬂ:afﬂ

but decolourises alkaline KMnO,.
The gas may be :

(1) Cullg {2y CH,
(@) Cally 4y CuH,

ThE chlarination of methane is an
exnmple of :

(11 Deeomposilion reaction
(2] Substitution reaction
(3) Addition reaction

(4) Oxidation reaction

The correct name of the following
compound is :

CH,-CH- CH-CH,
CH, G,
(1) 2, 3-Dimethylbutane
(2) 2- Ethyl 3-methylpentane
(3 2, 3-Diethylbutane
{4) 3, &-Dimethylhexane

The noble gas which occurs most
abundantly in the atmosphere is :

(1) He (2 MNe
{3) Ar {4) Er

When Geeta put a copper strip in &
solution kept in a laboratory, the
eolour of the solutiom turns blus,
According to you the solution can be ;
(1) AgiNO, (2} Zn{NO,),

{3) NaCl 4y ENG,

NTSE(Lewvel-1) Exam. Nowv,. — 2015

(37)

A

109. W T @ e AgNO, B TEm
o ¥ @ oAy Are T ER ot e
EMnO, TR & wm & 3 T\ &

ET i A
(1) C.H, (2} CLH,
@ C.H, (1) C,H,

110. & & R 06 J 8

(1) arogea s

(@) fawmE st

(3) HaE TR

(4) i arafEm
Pt O & vl A B

CH,—- CH - CH - CH,
LI?:-'HI!I E:Hﬂ
(1) 2, 3-EEEEs w2e
(%) 2-gurEe a-dterw 0=E
(3) 2, a3 darg 2w
(4) 3, 4-37% Hremgm B

111,

112,

amesf e k-
{I) He
(3) Ar

(Z) Ne
(4) Kr
118

TE § wed oRe o W A

wEr A wEEEr ¥ oo fasee f o

wE i oed I oA B ow A
g=mn|ﬂﬂ%cmﬁwtq5EEMHﬁiHEm

(1) AgNQ,
{3) NaCl

(2 ZniNO,,
{4) KNO,

P.T.0.



A

114.

115.

116:

118,

If a photosynthesizing plant releases
oxypen gas containing O™ It is
concluded that the plant has been
supplied with :

(1) CyH,0; containing O™

(2) OO, containing O"°

(3) Hy0 containing O™

{(4) Oxygen in the form of czone

The sequence of eall oyele is
{1y 5 G,G;. M
(2} 8 M, G, G,
32 G;,8 G.M
() G‘:-S. M, El

An imjury in accident has disturbed
regulation of body temperature,
water balance and hunger. The part
of brain effected is

(13 Cerebellum

{2) Cerebrum

(2} Medulla oblongata

{4) " Hypothalamus

» Which of the [ollowing is a group of

hermaphrodites 7

(1) Earthworm, hydra, leech

(2) Cockroach, earthworm, hydra

(8) Earthworm, ascaria, leach

(4) Ascaris, cockroach, hydra

If a rat is given an injection of sodium
iodide with radicactive iodine, then in

which of the following most of iodins
would be incorporated 7

(1) Cartilage (Z) Thyroid
(3) Parathyroid (4) Lymph nodes

NTSE(Level-1) Exam. Nov. - 2015
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114, werd deemo i o & a3 OE

114.

116.

117.

118,

dm anptem 0" gE diwiad e
drea &, & suw Fepd 9w @ s 0
F e B R

(1 O™ 3 CH0;

(3 O"F T Co,

@ o % ay H,0

(4) iAm & = # el

Fift 7% & W w E

(1) 8,G,G. M

{2) 8 M, G, G,

(3y @,,.8 0, M

(4) Gy 8. M, G,

gien & d@ W & &N wiv W=
e e, o w9 AT
e A SR g AR A
o SWiiE g g 7

(1) FARTE
(2) HETET=E

(@ Az sEee
(-1}5@&%%
Prefafag § & 99 @ wE TR ®
3
(1) Fgw, TEE, T
(2) i, B, TEH
(3) Fge, Mg, FE
(4) T, S, TR
o F el addE

ﬂmm“wﬁwﬁmﬂﬁ
sty aAEN Sa Tl 6l 7

(1) T (2) 9FEARE
(3) YOUTTEE  (4)



119,

120.

121.

122.

123.

124,

Blood Clotting is initiated by

{1} Prethrombin and thramboplastin
(2} Ca"" and thromboplastin
(3 Fibrinogen and Ca™

* {4} Fibrinogen and thromboplastin

In a six yedr old stem, the oldest
laver of secondary xylem is situated
tuat

(1} Outside the primary xylem

(2} Outside vascular cambiom

{3} On the inner side of cork
bium

{(4) On the inner gide of vaseuler
cembinm

The tusks of female elephant are

(1) Maolarse (2} Lower Ineisors
{3) Upperlncisrs  Canines

Which of the following is
effrctive for photoaynthesis 7

(I} Red light (%) Blue Lght
(3) Green light (4) Violet light

Which of the following iz true with
respect to concept of Biodiversity ?

(a) Biodiversity refers to different
speciea of flora & fguna present
in an area, -

Biodiversity refers to only the
flora of given area.

least

(b}

() Biodiversity is greater in forests.

(d} Biodiversity is total no. of
individuals of a species in given
Hrea.,

(B @&E (@ 0 &D

{3 {a) & () (@) (b} & () _

Belect the group which ¢ontains only

non biodegradable items ?

(1) Wood, paper, leather

(2) Polythene, glass, PVC
(3) Flastic, glaes, grass

(4} Plastic, nylon, eardboard

NTSE{Level-1) Exam. Nov, - 2015
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119,

120,

121.

122.

123.

24,

A

TR W OO G 91 wEA W e
o & Femd o et B 7

(1 deifE T et

(2} Ca' a7 dEmEiEs

(3) TEEEET T Ca™

(4) WEAFEA T dlEraie

B om e # dEwd omew 4
THE T 9% few @

(1) Wl EEy & 97

(2) g dfgge § wer

(3) % 3 F ofnw A &

() fegET Sfgmm & ol ot o

i 3
EE-: oy BEn T @ @ iR

() TE (@) Pew g

(3) FOft FAF () WG

UEE Heome & fmogH R @ @
ee wEE 9 nwEwE 8 7

(1) o W (2) 9w

(3) BT ORST (d) hEDE

CEREEED) '_
Preamfen § & F-w Rew me e o
(a) o PRy Bl 8w d s
E@aﬁ faftr= eI
|
) 7 R e fl dw @ A
-digt # wiE ¥
& 3 o gLl
{d)
T afge | e ¥
() @Em (2 B
(3 @WEE () bW

fFrfafgs 8 & #f&-w
il aegell = B 7
(1) TEREL, TN, WUE
() didd=, S, 6@ 4 @
(3) s, ¥, wE

(4) s, TEAE, T

TE I

P.T. 0.



125.

126.

127.

128.

At which trophic level, maximum

energy will be available ?
T,
T,
T,
Ty
a @ T
@ T, ) T,
A short length of DNA molecule
containe 120 adenine and 120

cytosine bases. The total no. of
nucleotides in this DNA segment i :
{1) 120 (2) 60

(3) 240 (4) 450

In the following diagram, J’u.Bﬂ Are

c
A B C

(1} Cotyledon, Plumule, Radicle
{2} Plumule, Radicle, Cotyledon
(3) Radicle, Cotyledon, Plumule
(4) Plumule, Cotyledon, Radicle

In the figure, the semicircle centered
at O has a diameter & em. The chord

BC is parallel to AD and BC = -;-AD

The area of the téapezium ABCD. in
em’, i6 :

/ﬁdf___\.\
A 5 »)
(1) 4 (2) 42
(3) 8 (4) 842

(40)

e

4

125,

126.

127.

128.

Pl § @ FHA T 9 wEiE
o O

[ T,
¢y T, (4) T,

DNA & & 4 uF 2 ga § wErm

masaﬂﬁ%mw 120 TEY 2
DNA & 3% H Fm e

nﬁ%ﬂﬁ‘ms B 7
(1) 120 {2) &0
(3) 240 (4) 480

Prefafian fem @ ABC o B

B

A B ¢
(1) o, W, T
(2) Wi, qEigt, S
(3} TEgY, HE, SgT
(4) SigT, HwE, Tt
o H avfam W %= 0 B & AD
wh ey & froeh oEE 6 @ &) S

BC,&D_%FHTHTEWEE=EA.DE
ey ABCD = S9sw, B A ¥ -

/E!.-;::.\
A 5 D
(1) 4 @ 442
(3) 8 (4) 842



129,

"~ 130

131,

In the figure, the radius of the larger
circle 18 2 em and the radius of the
smaller circle is 1 em and the larger
circle passes through the centre of
the smaller circle, The length {in cm)
of the chord AB is

A L
B
I
3 . Dyad
e partufruid
() B (4) 17
ilateral triangles I, II, 11l and IV

3 such that the altitude of triangle
h[ is the side of triangle 11, the altitude
of triangle 11 is the side of triangle I11
.and the altitude of triangle 111 iz the
gide of triangle IV. If the ares of
triangle I is 2 em”, then the area (in
em’) of triangle IV is :

V3

(L Yy

A ABC is a right angled triangle with
A = 00",

AB=bom, AC=acm,

and BC=c¢em

A circle is inscribed in this triangle.
The radius of the circle, in em, s

9 27 45
(23 6 {(3) e (4 Fey

(1) a+b-c '{P..jl %{Tﬁ—-ﬂl

2 4
. LT

] et o

1 - o L -.::.- 3
. GlaThram il

Bt
o .-.‘... & bt *

NTSE{Level-1) Exam. Nov. - 2015
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181.

2 27 40
Ei}ﬁ () T E-ﬂa
AABC uw wiEm, Bew ¥ P
2= 80", :
AB=h @, AC=a T
o BC =c & B ; :
s shrly o5 o offe o B oo
o, & & B - £

(1) a+tbe (2 %fu.-lr_!!_f?i.

& ' e, T,
L L s

iy
£}
-

® Ha-braw TEES
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132,

134.

134.

135.

136.

Pentagon ABCDE is guch that all five
diagonals AC, BD, CE, DA and EB lie
entirely within it. If tha area of each
of the triangle ABC, BCD, CDE, DEA
and EAB is equal to 1 em®, the area of
the pentagon is :

(1) i m*  (2) %mﬂ
() 5?" em?® (4) 5'2"@ em?

In the figure, PQ = QR = RS = 8P =
8Q =6cm and i
PT =RT = 14 cm. The length ST is :

F
"
R
(1) 44i0em (@ (TW3-2) em
(3) 10 em (4) 11cm

Let b, by, -, byg be the first 19 terma

of an arithmetic progression (AF)
ith by, + by + by + by =224 The
m of first 19 terms of the AP is 7

(1) 448 (2) BOG

(3 L1064 (4 1344

If @ P and y are the three zerces of
the polynomial p(x) = 2* — 64x = 14,
what is the value of a® + p* +¢* 7

(1) 36 (2) 40 (3) 42 (4 64

What is the t-emamd.er when the
polynomial

Pl = - 2™ P 2 P x4
,I'EE divided by (x=1) (x-2) ¥

{1 @ 7

(3) Ze+1 {d) 8x—B5

NTSE(Level-1) Exam. Nov. - 2015
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132,

183.

184,

1345.

136,

dg9A ABCDE T vt ¥ B ©@
gt B AC. BD, CE, DA &7 EB
gk 49 7 & ¥ ot vlE Brgm ABC,
BCD, CDE, DEA T EAB 3 9%
1 #4 &, @ Juvw W e

(1) 5_{ (%) HJ’E*"’E’W

(3 5";’3 B (4) —-—5'"2“@_ ey

g i PQ=QR=RS=8P=85Q =

6 HH| T

PT=RT =143 &1 ST R o= & :
'P

T
R
M) dflodd (2 (7/8-2) F0
(3 108 {4y 118

Rt woiee A9 & 98 19 98 by, by,
e by B ST by + by + bys + by = 224
%) awiaT I % oew 10 T w oA E

(1) 448 (2 806

{(3) 1064 (4) 1344

4% 459 plx) = 2° — Gdx — 14, & &
%]j"ﬂﬁu.ﬁ@?l?-r? A+ pPP+y W
w OEE T

(1) 88 (2) 40 (3) 42 (4) 64

Ll i

Pl =02 - 2+ 4 ]
F x-1 -2 F 99 T O
Jewe o B T

(1) 1
(3 2x+1

2y 7
{4) Bx=5



137. If ein 87" and cos BT® are the roots of
the equation x° = bx + 2 = 0, then the
value of &% is
(1} ¢ (2 1+2e
(3 1- ¢ (4 1+

138. If |x=y| =1and

P -
3,; = xy, then the number of

different pairs {x, y), which satisfy
both the equations simultanecusly,
8

{1) 2 (2} 3

(3 4 (4) &

One of the factors of
Bla® + (x — Za)x - BGaMx
(xr—1la)is:

(1) =*-13a+31a
{(2) x*+ 13a+ 3la*
(3) «*+ 1Ba-31a*
(4) = =1Ba+ 31a°
The value of

(2) 3

139,

140,

is:

W 5};
R 3
lﬁq-l 54@+1

If x=+5+421 and _'F='|.|5-321
then the value of (x — ) is
(1 2421 (2 10

@ e L@ +4f6

NTSE({Level-1) Exam. Nowv. — 2016

(3) (4)

141,

(43)

137.

134,

139.

140.

141.

A

gft gin 87° ST cos 87", WHEW
F-bx+te=0F 9@ & T b* WA
&1

(1} e (2) 1+2¢
3 1-¢ @ 1+
o |x-v| =1
Zavm
¥
79 faf= (x, y) T HEn @
é’lﬁ’raﬂhm%ﬂwm He R,
(1) & 2 3
(3 4 @ 5

Blg' + (x — 2a)(z - Ba)(x — Ba)
(- 11a) & TF [FEE &

(1) x*—13a+ 3la"
(2) »* + 132+ 3la’
(3) x*+ 18a-31a°
(4) x*—1Ba+ 3la’

& 9§

E,l.. (2) 3

] _8

Ba A _
T x=45+421 BN y=+5-421
B - aa
1) 2421 (2) 10

y 6 () 46

P.T.0.



142,

143.

144.

145,

146,

147.

Let x be the greatest number by
which if we divide 366, 514 and 324,
then in each ease the remainder is
the same. The sum of digits of xis:
M 3 BH4+ HE @7

If @ number m is divided by 5 leaves a
remainder 2, while ancther number n
is divided by 5 leaves a remainder 4,
then the remsinder, when (m + n) is
divided by Bis:

1 @2 @I @ 4

If 3 sind + 4 cosd = 5, then the value
of 4 gind — 3 cosb 1s

(1) —6 2 =2
(3 1 {4) O
Consider the points Al=06,- 1)

Bi- 1, 0), C(1, 2) and D1, 3). Lat P be
a point such that d = PAY + PR+ PC*
+ PD* The least possible value of d
1 B

(1) 28 (2) 30 (3) 32

I play a game in which two dice are
thrown together. I win if the produet
of the two numbers sppearing on
their tops iz odd er & multiple of 6.
The probability of my winning is

{4) 34

1 &
- P —
fl]'s “]2
7 1
0 e  —
{:IIB {}4

A solid metallic sphere of radius r is
converted into a solid right cireular
eylinder of radive . If the height of
the eylinder is twice the radius of the
sphere then :

(1) B=r (2) R=%}'§-
2r _Jﬁr
{3) R=J; (€Y R—ﬁ"

NTSE(Level-1) Exam. Nov. - 2015
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142.

143.

144,

145,

146.

147.

o T x a5 o8 @ w8 den & Pred
afr o 366, 513 T 324 = W E, @
ﬂﬁﬁmﬁﬁﬁmilx%mﬂﬂ
o E
Iy 3 (2 4

HE @7

M1 B2 N3 @4

qft Seinf+4cosb=5 &,
4 ginf — 3 cosB T WA B ¢

(1) =5 2 -2

i3 1 (4) 0

figatt Al- 5, — 1), B(=1, 0), C (1, 2) 3T
D¢, 8 T famw k) 3 o g P
=q BT E B d = PAY + PR* + PC* +
PDY, 7 d % =W HeE O € -

(1) 28 (2) 30 (3) 32 (4) 34

o de Ge § D 9 T 6 0
e G o #1 8 dflg A, AR
ol & T #E HEmEl @ e OF
Pw dem w5 @ W B AR SRR
i it &

G

1 5
“3 e

7 1
B — 4) =
& 1z @ <

o] § TF oW e B R B e E
Fer R a9 OF 2 wegid ¥ &
=y & wEn o B oo ¥ew @t o
i # Bem & g e, &

2
1y R=r C -
W% i J3

2r “ar
2 R=.|— 4 H=
() 1|J3 (4) 5



148.

149.

Match the table T with table II and
gelect the correct response from the
options given thereafter :

Table I Table 11
(@) Louis XV1 (i) 1792-93
became the
king of Franse
{b) Conveocallon of (i) 1804
Eatate General
() France became (Ei) 1774

a repuhblic, the king
was baheaded
id) Nepoleon became
emperor of France
a b e d

(1) 1, 1, mi, v

{iv) 1789

() i, iw, i, i
(3 it v, & &
(4) dw, i, i, i
Match the table I and table II and

seloct the correct response from
option given thereafter :

Table 1 Table IT
() Monteaguieu (1) Social
Contract
{b) Rousseau (i) Mein
Komph
(£) Karl Marx {iii)} Das Capital
(d) Adolf Hitlar {iv) The Spirit
of Laws
a b e d
M iv, i, i, #
() ii, 1, jw, i
@ i, iv, i, 1

) 4, @, & v

NTEE({Level-1} Exam. Nov, — 2016
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148, fwE 1 6w 11§ g

A

Eacy

o foom Beed 4 8 @) Be W
e e

aifer 1 afer 10
fa) 98 XVIHE ® (@ 1782:93
s T
(k) TR S (ii) 1804
i ST |
(c) wig s (iii) 1774
&1, T
wT w [ o
(d)y Tdferm wiE (iv) 1789
N OIEF T

a b e d
(1 § 4 i, iw
(2) 4, iv i, iii
(3) i, v,
(4) iv, 1, ©n, 1

149. mifeEm 1 # oo 11 8 G &1 S

B e feer § § g8 e W e
e

el 1 Ao 11
(a) Wi, (i) . Hiew wEE
(by = (ii) ¥ =5
() e neRl (i) T B
(d) EiTH (iv) ¥ Tedfiz
feemmt afiE i
A B o d
(1) dv, i, 44, i
(2) &, i, v, ii
@ 4, v i o

QR 8 o1 W T

P! TII- Dl
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150,

161,

162,

Which of the following forest
communities is wwrongly matched
with the place of their living ?

(1) Eg.nth:lls - Jharkhand
(2) Oraon - Magaland
(d) Gonds —  Chhattisgarh
{4) Korava - Madras

* Presidency

Which of the following statements
does not mateh the MNam thinking ?
(1) Government should be digtatorial
and anybody opposing it ghould
be dealt with firmly.

All the Jews living anywhare in
the world must be hated.
Democracy ;:ﬂ;_d international
peace should be ﬁ'dmntai
Germans are the best race in the
world and therefors, they must
rule the whole world.

(2)
()

(4}

Consider the following statements
and identify the correcl response
from the options given thereafter
Statement [ : Over half of the
world'a total pastoralist population
lived in Africa,

Statement £ : Masai land was
divided in two parts = the British
Kenya and German Tanganiyike

{1) SBtatement 1 ia false and
gtatement 2 18 truo.
(%) Btatement 1 is true &nd

atatement 2 is false.

Both statement 1 and atatement 2
are true and statement 2 is the
correct explanation of statement 1.

PBoth statement 1| and statemant
2 mre trus but statement 2 ia not
.the correct explanation of
statement 1.

(23

(4)

NTSE(Level-1) Exam. Now, — 2015

(48)

150, Frefefaa § 4 S$F9-m 79 @9 e

w B wm @ g A

(1) T4 -  ES
m e - TmEE
(3 iz - BT
(1) FTEW -  HEE JAEd

151 Pl # & fWaw awm A

152,

R @ A= 78 @ 7
(1) FUHR, AFIAE W7 & B =i

{ﬂgﬁﬂih‘#ﬁrwﬁrﬂﬁﬁwﬂ
gl § THE T Wi

(3) wARE aul SlAEE @i W g
4o e |

(1) w9 g & widm T & A E
galRm T i ghEr o e
A I |

Ag e o

o fBm o Preeedt § R

(1) T 1 e B, e 2 wEE
(2) o= 1 @ ¥, S99 2 W B

(4 2Rt g we B ol swie 2
T 1 F al Emen ¥

(4) F Ten W ¥ Py e 2
T 1 @ E T T R



153, Consider the following events related 158, 9T % UM WEed 8 oE
to the National Movement of India freritm Seamedl @ Riy-wgen we
and identify the correct chronological ?oaw & R TE B, T A
reaponse from the options given fEn o Bt ® oftm @Er & =59
thereafter - o
{a) Chauri Chaura ineident (a) #fi-Eng g2
(k) . Rowlatt Act b) e g
(2] Mon Cooperation Movement (o) HHEEM AFREA
{d) Jallianwalla Bagh incident (d) TTEETET q
(1} a, e b d {2) h,dca (1) a,¢hbd (2 b,doea
{3] d! o, hr a I:"} Gy d-r b {3-] ﬂ' i, i:l. a E'A:J c, a, d—. b

154, Match the table I with table I and 154, o I &t afm O & FE
select the correct response from the st B o el § A T &
options given thereafter. TR T )

Table 1 Tahle 1T iEE 1 aferEt 11
{Symbols) (Meanings) (Fae) ()

{a) Broken Chains () Beginning (a) T AR @ W
of the new HITH
ern

(B) Crownof Oak (i) Being by S a9 3 (i) oo B

leaves Freed ol A
() Olivebranch (i) Hercism (c) THEAT 9T (i) <
around the Fiy St = swEn
award et Eﬂ
(d) Rays of rising . (iv) Willingness () T gd @ ) W W
sun to make o] T
peace
a b e d B b ¢ d
) 5, mi, i, 1 (1) & &id, #H, iv
2 i, v, i, 1 € o, 1w i, i
(@ iv, i, 4, i (8) iw, i, f i
) d, L i 1 4 4, i, iv, 1

NTSE(Level-1) Exam. Nov. - 2018 P.T.0.
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L34,

156.

Consider the statement given below
and select the correct explanation
from the responses given thereafter :

Staterment : In 1907-08 some 300
Vietnamese went to Japan to acquire
madern education because :

(1) They wanted lhl ge: lucrative

jobs.

{2) To avoid unstable political
conditions in Vietnam.

(3 “Te drive out French from
Vietnam.

{4} To enjoy modern lifestyle.

Congider the following statement and
identify the incorrect response from
the options given thereafter :

: Effects of the Great
Depression on the Indian economy

Statement

WeTe,

(1) India's export and import nearly
halved batwean 1928 and 1934,

Wheat prices in India im:rua-ﬂd;
50 percent between 1928-1934.

2}

{3) India became an exporter of

precious metals, notably gald.

Landlords and middle class
galaried employees in cities found
themselves better off because of
falling prices.

(4)

NTSE(Level-1) Exam. Nowv. — 2015
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155.

156,

e oo % =W 4 9 & @
Bu o fyeedt 8 & mef BeeT W o
%t

o » 1907-08 § w300 e

g e o F 3 R ooe =S
i

(1) 3 b s el Tl emER
)

(@ F P & weiE st 8
¥ @ =

(3) 7 wEfE & PBwgam d FERE
= & |

() ¥ omfve e @ ogS W
e &

48 frr o B B o A 98 iR Ry
wm e & # oaw BeR WO
it
FoT - T B oeEen @ wEEE &
e o |

1928 & 1934 & €9 W@ W
srar-Frata s and T8 T

1928 & 1934 % 99 W 3
TS 50% &3 |

q FwE agst B 9N
& Tl &9 57w

it 7 el & e A
weierll aeget & P am & A
At W A woEn 8 )

{1)

()

(3)

(4)



157.

168,

158,

Which of the following options best
explaine the sumptuary laws 7

{1) The laws that prohibited wearing
JShort skirts,

The laws that declared that silk
clothes could not be used by

{(2)

peasants.
(3) ir'ﬁt laws that controlled
‘behaviour of the
infariar”,
The laws that prohibited the
socially superior class from
wearing cotton dreases,

the
“socially

(d)

Consider the statement given below
and select the correct response from
the reaponses given thereafter :
Statement : Simon Commission was
opposad by all the political parties in
India because :
(1} It was not in favour of complete
{2) independence

It proposed the communal award
(3} It resiated economic reforms.
{4) It consisted of all white members.

Consider the following events related
to Print culture and identify the
correct chronological responss from
the options given thereaftor ;

{(a) Buddhist missionaries from
China introduced hand printing
technology into Japan around
TER-TTD AD,

Gutenberg perfected the syatem
of Olive Press.

Marco Polo brought wood block
printing technology to Italy.

The earliest kind of print
technology was  developed in
China.

(1) " ¢ d

{3:' o Xy
{E]I B, & d,

Wb d a

{b)
(e
(d

& oFoe
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158.

169,

(1) &% 0 Tl o e T
tﬁ]nm.ﬁ HREEIE  greRT ol

(ﬂ}mmﬁmﬂﬁﬁﬂﬂﬁm
(4) 7% ot we A A
gl & Hefim Frefafen et
M A T OW TEe ¥ 9E $ # f
T\ g I q RRmm Fmifm
HifAT
{a) ®THT 768-770 §. ¥ v # amy
aE fay o § ew-gE a
T AT |

(b) TR § SfieE-iE W EEen W
gEeE [

() = g TS & oWl @ e A
TR g AT S

() w5 A olid g A W

dt A R gam)
(b, o d a
2y d a8 e b
(3 a, d b
4) b, d, a8 &



160. Consider the Statement given below
and select the correct explanation

from the reaponses given thereafter.

Staternent : Women workers in
Britain attacked the Spinning Jenny

because :
{1} Faetory ownets ill-treated them.
{2} Wages were inappropriate.

(3) 1t reduced labour demand and
they feared they would be
deprived of their jobe.

(4] Working hours inereased.

161. Consider the following statements
and identify the correct response
from the options given thereafter ;

Statement I ; The first Cricket Club
in India was started by the Sikha.

gratement IT : Mahatma Gandhi
condemned the Pentagular
tournasent.

(1) Statement I s false and
statement II is true.

(2) Statement [ is trae and
statamant I is falae.

| {3} Both statement I and IT are true
| u . -and etatement IT is the correct
explanation of statement L

il (4 Both statement I and statement 1I
il are true but statement II is not
correct explanation of statement |.
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160.

161.

Brerfafies oo &) o @ 98 ot Y
3 Ro o fBeed d § gEl e W
T i |

g« Fad # wfeen stEE A Tl
&0 T e i

() & F Wi A @ gEE
B

(2 W T T A

@) TEd Tl @ A g et aR
oo 5 % dEna o Fem B
T |

(4) FW F & WE TF T

% Ry o owe oS e # 92 am
mhﬁﬂﬂﬁmmmw

a7 I 9 B use R s T
J @l

gy IT ; W ) Yergen gAme ®
Hi_ﬂﬁ"ﬁ’ﬁ“l
(1) = 1 T E, w1 R

(2 w7 1 EE Y, T IO T E

(@) 3 Tae Wi § A T 1P
[ i =) =mEm %)

(4) =t T W R e 11 FeF
1 % wfl = R



(51) A

162. Consider the following stalements 162, A9 R m o R =9 & ® o
and identify the correct response fem o 18 g8t BFes = T
from the optiens given thereafler Ty -

Statenent I : The population of Fe -1+ o i o e &
London  pxpanded  due  to T Fawr B
industrialization.
Statement IT : Weall-off Londoneors g7 I ; o5 & ot o & A 2
supported the need to build houses e T F Rm ow oTm oaSw &
for poor HETTFA F adE B “
(1) Statement [ iz false and
statement 11 is true (1) %59 1 700 & @ w11 HE &
(2) Statement [ i3 true and
statement I1 is false, (2) 1 98 & o = 10 e R
(3} Both statement | and statement
Il are true and statement IT is (2) T 1 9 g 01 21 | & omen
the correct explanation of : F 11 0 T4 o) = &)
‘!atatement L.
{(4) Both statement | and statement
11 are true but statement 11 is not (4) T 1 oEen g 102w E oA
the correct explanation of ET I e | %o s
statement I, g
168. Which is not a natural ecosystem 7 163, 7= § w9 o oftialis o
Y 1
(1) Thesert (2) Aguarium (1) THEm (2) ¥ wEaE
(3) Forest (4) All of the above (3) T (4) IwgE W

164, Match the following 164. Fr=1 & ofl &% g9t
(8) Mushroom = (i) Glacier (a) 5% () e
(b} Ox Bowleke (ii] BSeawater (b offem & & (1i) 'ﬂ'ﬁ!ﬁﬂﬁ
{c) Stecks (i) Dasert {c) =54 (iil) TEREH
(d) Morains (iv) River (d) wrEs @v) I

ﬂ b {1H d a h E d
(U 4§, i, iv Wi B # v
(@ i, i, i i (2) &, i, 1  iw
':3] iiir i?, li' 1 {E} iii. i". _jih i
(9 i, L i, i  twv. 4 4

NTSE(Level-1) Exam. Nov, — 2015 P. T.O.
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1646.

167.

168.

169.

=

What is toucans 7

{1} Mame of staple food

{2} Name of a bird

(3) Name of river

(4) Name of a mountain peak

Choose the eorrect option of the
following in order of distance from
the sun :

(1) “Barth, Mars, Jupiter, Saturn

{2} Mara, Jupiter, Saturn, Earth

(3) Jupiter, Mars, Earth, Saturn .

{(4) Mara, Earth, Saturn, Jupiter

The speed of the earth movement at
the aquator ia :
{1) 1865 km/h
(%) 1680 km'h
(3) 1669 km/h
(4) 1660 km/h
Western Coast strip E-l:-;.ith of Goa is
known as:
(1) Malabar (2) Konkan
(3) Coromandal  (4) Syhadri
Choose the correct pair
{a} Trade wind -{i) Horizontal
movement of
air
{b) Loo {ii) Seasonal
wind
{¢). Monsoon  (iii} Permanent winds
{d) Wind (¥} Local wind

a b e d
(h 1, i, g, W
@ v, i i, i
) ii, v, 1, i
@ @i, i, v, i

NTSE(Level-1) Exam. Nov.- 2015

165.

166,

167.

168,

169.

Toucans F7 & 7
(1) WH ST T W
(7) oF i #@ A
(3) T TR H TH
(4) TF T B BEET WA

e B 8w e @ g A
waghd s ..

(1) e, S, TEEE, o
(gy T, gEE, @, T

(1) 1665 Bt e
(%) 1680 BT S
(3) 1669 B o
(4) 1660 Fdl sime

ol G # A @ AR o
e = & @ o & 7

(1) SEET (2) T

(3) T (4) foremdl

T8 P AE

(a) T ) arg &R
oE e

&) T (i) St san

(c) AT (i) wrd 9

(d) TEg (iv) T T
g b o d

{1:' i| iil- iii! 1"’
(%) iv, i, i, i
(& id v 4@ 3
(4) i, 1, v, il



170. Which iz the deepest lake of the

171

172,

World among the following ?
(1) Victoria lake

(2) Superior lake

{(3) Baikal lake

(4) Huron laks

Surface feature with more than 700
meter height 18 known as :

{1} Plain {ﬁ} Maimtain

(3) Flateau {4} Mound

In the given map Wild Sanctuary arve
marked withabed. '
Choose the correct order,

g, % -
4
D

(1) {(a) Kanha Kalsi
(b} Chandraprabha
(e} Atunagram

{d) Chandaka

{a) Chandraprabha
(b) Kanha Kalai
(e} Chandaka

(d) Atunagram

{a) Atunagram

() Chandaka,

{¢) Chandeapradihy
(d) Kanha Kalsi
(a) Chandakas

(b} Chandraprabha
{c) Atunagram
{d) Kanha Kalsi

(2)

{3}

NTSE(Leyel-1) Exam. Nov, - 2015
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A

170. B9 8 @ ®9f Py B o8 wh

171

172,

B 7

(1) FEEEia da

(2) ghitar e

(3 twm #fiw

(4) T A=

byl a1 3E g P s 700 4.
A& & @ an om B

(0 bt v

(3) W (4) w&HE

B m Afas & g dm st

(Wild SBanctury) T9C T2 ¥ 52 a b ¢
d # a R o &) wd e @ gl

o

b, ;“J
II;_‘-

(1) (a)

(b}
(c) UgE™
(d)
(a)
{b)
{c) =Rl
{d)
(a)
(k)
(e} TFRET
(d) -
(a)
&)

(c) W
(d}

12}

{3

(4}

P.T. 0.



A (54)

173. Choose the correct pair : 178. &8 T7 W g -
{4) Jammuna Pari () Sheep (A) AT @ W=
(B) Jefarabadi (i) Cow (B Tl (i) T
(C) Bhakherwal (i} Buffal (C) wFEEE (i) W
(D) Tharparkar  (iv) Goat (D) 9T (iv) T
A B C D A B € D
(1) v i i 1 (1) iv i H i
() i i 1 i (2) i i & i
(3 i1 v W 1 (3) i v i i
(4 1 dd  iv i (4 1 i v 1
174. Which is chief producer of silver in 174, Fre § @ Fmw dw R § 9@ W
tha following 7 T TEE B 7
(1) Australia (2} Mexico () defm (@ iR
_ {3 Usa (4) France (3) Uy N (4) =H
176. Choose the correct pair : 176, &8 g™ & Qf"ltl :
% {A) Veld (i) Venezucla (a) = (i) A
(B} Llanos (ii) Asia (B) WA () widn
(Cy Compass (iii} Africa (C) ==1d (iii) AT
(D) Steppe.  (iv) Brazil (y (iv) FE
A B C D A B @ D
(D i i @l i (1) i # i v
(2) i i dv (2) 4 i iv i
(@) i i iv i (M i 1 v i
(4 4l i il iv (4) i1 ii v
176. In the given map X' denote : 176. P g wpE X Reow wim k7
X
(v, v
(1) Mount lea (1) e dam
(2} Brolken Hill (2) B TETEI
(3) Haimershley Hill (3) wife qer
(4) Wadepa Hill (4) TEH TSt

NTSE(Lewvel-1) Exam. Nov. — 2013



177.

178.

178,

184,

181,

Match the following :
(A} Berinaag Lake (i) J&K
(B} Malataal Lake ) Tamil Nadu
{C) Pulkit Lake (i) Maharashtra
(D) Lonar Lake  (iv) Uttrakhand
(Uttranchal)
A B 0 D
Wi #oH e
@ H v i
() i i i v
Wi v i i
After bifurcation  which of the

following state, Telengana state come
into existence 7

{1} Jharkhand

(2) Andhra Pradesh

{3} Maharashtra

(4) Arunachal Pradesh

Name the union territory from the
following which has its awn
Assgmbly 7

+ (1) Chandigarh (2) Lakshadesp

(3) Pondicherry (4) Daman & Div

The word "Left’ is used for which of
the following Political Party 7

(1) Bhartiya Janata Party

{2} Bocialist Party

() Fﬂnm.muniat Party (Iv[i

(4) Congress Party

By which constitutional amendment

two words, 'SECULAR' &
"SOCIALIST' were added in the—1.
preamble of the tion ?

(1) 44th (2) asth —

(3) 42nd (4) 52nd :

NTSE(Level-1) Exam, Nov, — 2016
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177.

178.

179,

1840,

181,

A
ﬁ"[ﬂﬂ'ﬂﬁﬁi‘&'ﬁﬂﬁh’q:
W) FEm de o s
(B) nrammE s (i)

(C) Golen W (i) oS
(D) W & (iv) TR
(Tt
AR € D
(1) 1 3 i e
&) i v @
() Ho# i iv
i v B i

Pl o=l % & fem oTw @
Frmrem & e g o F e 7

(1) #REE

(2) &Y mie
(3) TERTS

(4) TETTET meW

Fet & & fr 3= ot 2w 9 &k
faom wa B 7

(1) = (2) werdn
(3) TifEE () =07 7 &7

F=1 # & B Torfifos owr 3 Rm
Tt o a w P o R 7
(1) ety S O

(2) B Ordl

(3) wiEHaEl argEE O

(4) &Ew g

W dEe deey @ o ditee o
were 4w g gy g
% =1 T 7

(2 asdt
(4) BoEl

(1) 4457
{3 dadf

P- Tl U'



182. Which of the following statement 18

corpett?

_ (1) Haryana, UP and Punjab have
bicameral Legislatures,

(23 UP, DBihar and Jammu &
Kashmir have bicameral
Legislatures.

(3) Jammu & Hashmir, Rajasthan
and Himachal Pradesh have
bicameral Legislatures.

{4) Bihar, Tamil Madu & Kerala
have hicameral Legislatures.

183, FEconomic growth plus changs means:

(1} Sustainable development
(2) “Fconomic development

(3} Increase in national income
{4} Ipcrease in per capita income

184. Why did the government ghift 1ta

strategy from long term to ghort term

PIOErAmMMEs 23] TEMOVE

unemployment 7

(1) Lack of funds

(2) Large scale corruption

{#) Luke warm response from the
gtate governments

(4) Long term programmes takea @
long time to implement

185. What do you mean by collateral ?

(1) It is the total sum of money with
8 person

() It is things kept in the locker

(3) It is guarantee given by the
barrower to the lender

() it is the security to a lender until
the loan is repaid

NTSE(Level-1) Exam. Nov. - 2016
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(1) BRE, sy iy T tem A
e P T # )

(2) T Ry, T @ o B A A
wedm e w1
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# & et P A B
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186, Which of the following statement is
nol true regarding the world trade
organization 7
(13’1t allows free trade to all

. countries without any trade

barriers.

. fg}"'ftﬂ aim is to
Anternational trade.

| (3 It establishes rules regarding
international trade,

{4y WT.0. rules have forced the
developing countries to remove
trade barriers.

Right to choose, Right to sesk

redressal, Right to represent and

Right to be informed, are :

(41] , Fundamental rights

@ Consumer rights

(3} Fundamental duties

(4} Consumer movement

A body is dropped from certain height
from a uniformly ascending balloon
The correct graph showing variation
of velocity with time for body ia :

/

libaralise

187.

158.

{1}
(2)°
(d)

(4

\
é |
\
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186,

187.

188.

(2) s TSR sEnisfim &SR @
Eﬁ?ﬁm%lgﬁqﬁﬂ

() B S W
; =0 TR

(4) W.T.0. % M, = s &
w3 o Rewmdie 26 &) Raw
wo ¥y

gﬁ B HfEwn, ol FEnm w®

s, sifefie = st o g

ﬂﬁmmﬁm?

(1) g sl

(2) I st

(%) i Fe=

(4) ITHRET SiEe

TF T T A
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(1)

(2}

(3

(4)




A

189, A thin uniform metal rod of mags ‘m’

and length '1' standing vertically is
now allowed to fall due to its own
weight. The wvelocity with which its
mid-point will strike ground will be :

Cm %gr @ J5a
@ gl ) %gf

Two beakers P & Q are filled to thi

brim with a water at 4°C. Beaker P

ie heated while § is cooled. What ia

::xpegad in thase beakers now 7

(1) Water will overflow in both
beakera

(2} Water level will go down in both
beakers

(3) Water will go down in P &
overflow in Q

(4) Water will go down in @ &
overflow in P

A pevson sees @ jet plane fiying from
past to west, When the plane i just
above his head, the sound of plane
appears to reach him at 60° with
horizontal, 1f the velogity of sound is
v, then velocity of jet plane is:

(1 2w

J3
{2) =

2v

(EI:E

4
9
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184,

180.

191.

et A AN 1 R oA WO
o T g2, @ B ossl wf 4
s & it & wer Pt & el BT §
ww frg & o W S0 W AT
B ;

@ gl

b
{1} Egi!

(3 f3gl (4) %gf

g 4T P A Q 4°C & @ A L0 WE

AR A PR WA Q R

gﬂmﬁmmlﬁﬁqﬂﬁﬂwﬁn
?

(1) 3 A T o e H g

(2) A AR A aw A S

ﬂ%ai’rttmﬁ’rgqimhmrﬂ?aﬂ%
T & &% w B 8, ef Tus #iT
B & e0° T o g8 sl A R
afr oy fAE v &, @ fT 99 W
= B
() 2v
(2) %v E =
.;31%,;-
':43'2—,



192.

193,

194,

If current through a resistance is
mereaged by 100% simultaneously
reducing resistance value to 25%, the
new pawer dissipated will be

(1) MNachange

(2) Increased by 100%

(3} Decreased by 400%

{4} Incressed by 400%

A resistance wire of uniform eross
section is in the form of a ring. The
twa diametrically opposite points are
connected through a source of emfvia
an ammeter. A conducting wire is
now connected acress AB, A B, &
then AR, , one by one, if ammeter
reada I,, Iy & I; respectively ;

a
.

() L>L>L (B L=1>1,

3 L=0,L>1, (4 L,=01<I,
ldentify the deﬁm\luﬂed as spherical
mirror or lens in the following cases

when the image-formed is virtual &
argct in sach cass ;

A Object is placed between device
& its focus, image ie enlarged &
behind it

B  Object placed between focus &
device image formaed is enlarged &
on the same side as that of ohject.

A B
(1) Convex lens Concave mirror
(2) Convex mirror Convex lens
(3) Catemvirmirror Convex lens
(4} Loncave mirror Coneave lens

NTSE(Level-1) Exam. Nov. - 2015 _
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192,

183,

194,

A

7R U Sy # mEe e 100% T=
i o oAy & oy W oA Teme
25% %Y B 9@, & w<f af ug ol

(1) gt

(2 100% & gis

(3) 400% Fr H

(4) 400% 3t gha | .

Pl

1) Li=L>1, (B) Li=L>I,
(@ Li=0,L=>=T, 4 L=0I<I,

P. T.'0.



195.

196,

197,

(4]

heagnitic fizld
f &

# Eleclron

* Proden

=

LY

A uniform magnetic !ﬁcld exiet in the
plane of paper pointing from bottom
to top while a proton & an electron
are moving from left to right as
shown in fipure. The forcd
experienced by them will be :

{1} OQutwards for both

T y
(2) Tnward for electeon, outward for

proton

(@) Inward for proton, outward fob

electron

Inward for both

Most of the refrdction takes place at
when iight enter tha ayi.

{1) Pupil

{2} Iris

{4) Outer surface of corbea
(4) ﬁr].rst.ul.'line lens

In mir the speed of souhd is 340 m/é,
Thiz means that in one second

(1) Sound source mpvisa 340 m
(2} Listener moves 340 m
(3) Air dial:urhﬂn;:e maoves 340 m

(4% Air moves 340 m

NTSE(Level-1) Exam. Nawv. - 2016
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195,

168,

197.

-
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i ¥ 39 o ardite W= B

(1) ZFt 9T T AN
(Z) SEEE O oY OEE 9 g
#re

@) B S e, SR W AW #
#

(4) I T aEET WA

o Y ahwt A wRe S B, wEii
T B

(1) =i #

(2 omghd A

@) #iEd # del ws W

(4) forwi &g 8

q wf % T 240 mfs &1 SR
o ¥ o A g

(1) e Er a40 § T @
(2) s 340 0 e ¥
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198. An aluminium sphere is dipped into

199.

water. If B, and B are thg
bucyancies in water at 0°C and 40°C
reapectively, then ;

{1} B;<By
(2) B,>By
(3 B:=Bi:

(4) B; > or = By, depending upon the
radius of the sphere

Three blocks of masses m,, m, & my
are at temperatures 0, 0, & @,
respectively. Assuming all of same
metal & there is no losa of heat to
surroundings find the equilibrium
temp (8) if all the three are brought

in eotilact
{e = sp heat of metal)

1) b= m, 8,04 m.B.c+ m .0
m,y +my +m,

m 0, +m.8, + a8y

(2} B= :
My g My

@ f= my B+ mgf, +m,8,
Srmy + my +my)

”T-IEEILEWLIJ Exam. Nov, - 2015
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198. THMFEM 1 oF e o

199.

A

L

1
T @i B, @ By S 0°C 06 40°0

o T ¥ I

(1) B;= By
(2) B, >B, 1
fﬂ} EI = B

(4 B, By, & 397 o aftp, % H
B ot Fofy o &

my, my; T m, FEAE & &7 fie
A ©,, O, TG 6, W 9T § | v F
Bl oF & ag @ w7t ¥ g e A
g o wi w8 B A 2 w3

WA 9T AR o Eh
(¢ = umy %t faftme )

(1) B m. B c+m Eaddﬂmﬂﬂ
My + iy T

m 0, +mg0, + m, 6,

Z) O= -
m.l +.I';|"!-= +m,_ -
(@ E|=E1*_EL=_+9_1

m,0, +my8, +m,0,

8=
m, +my +my)

(4)

PrT.0.



A

200. A body of mass 2 kg is free to mave
along x-axis. It is af rest at & = 0.
From t = 0 onwards it is subjected to
a time-dependent force F(£} in
x-direction. The variation of F with
time is as shown '

F I:L].1l

AN~

o

The change in momentum during

g IH W U W SmRE W
Fit), x B # smifm & F # a5
1 fBrg 7 frmmm o ko

F (LA

dAM-

45880 o
o aﬁ\%
aE % A A % oftes B

journey is (in N-s} ; B ﬂ'}l g
(1) 450 (@ 7.50 (1) 4.50 (@) 7.50
" (3) 5.06 (4) 14.06 (3) 5.06 (4} 14.06
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7. gt & e, o waw § Peffe el #® /¥R | 7. Answers to questions inanswer sheet are 1o be given
ia we & @ wom wE wew & Aw Bl by darkening complete circle using Black /Blue ball point
Pregry et pen as shawn below :

® e @ @ c e @ @
mmﬂmwmmwm,uﬁﬁmﬁ The arswer will be treated wrong, if it is marked, as
ary wr P v 4 o § given below :

@ @ © @ @ & ® 9©
e W o e w A 0§ o s S TR I you fill more than one circle it will be treated as &
b= e T | WTEHE BNSWET.

8. vn o T gftow # ¥ s @ # wmf melt | 8. Reugh work should be done only in the space provided
o W e in the Test Booklet for the same. Ld

g, o g das oMR T OE W @ afEm W @ 8. The answers are Lo be recorded on the OMRE Answer
o v sfvg W) SR e iy A @ Sheet only, Mark your responses carcfully, No whitener
by wegE) o T i 81 {white flaid) is allovwed lor changing answers.

10, peim e @ firg R oy AR Rl 9w aftrr | 10. Out of the four allematives for each question, only one
fesr @ fay OMR om 50 T 99 TF circle for the fnost appropriate answer is to be darkened
# # gf we d@ywE dw mEr @R W) completely with Blue/Black Ball Point Per on the OMR
s AR IWT Hiem 9 ¥ AW o agen L Angwer Sheel. The answer ance marked ks nol allowed to
e R T changed,

11-Mqﬁﬁﬂﬂqﬂrﬁfﬁrwmwwﬂm 1. The candidates should ensure that the Answer Sheet i3
v ww 9 o Fem A T weml W not folded. De not make any stray marks on the Answes
e we T # Preifn e & afRe aE A Sheat, Do not write your Rell Mo, anywhere else except
fared | in the apecified space in the Answer Sheel.

12, ufen Te T w1 eyEgE Wi wE wdifi | 12, Handle the Test Booklet and Answer Sheet with care, as
Py Y oftfeerfly F (dae wien gRas w 99R TEE under no cireumstances [ecept for discrepancy in Test
wE o P W T o) oigaw) ged wem gRoET Booklet and Answer Sheet Secial No.) another set of Test
Wz wymer Fr ey W Booklet will uot be provided.

13. oien gt /awe owE | o whE o st Wit | 13, The candidates will write the eorrect Number a6 given in
i & wiford o= # faray the Teat Baoklet/ Answer Sheet in the Attendance Sheet.

14, aeadl = T dtesos 4 wm e # R el | 14, Candidates are not allowed to carTy any textual material,
e W SR, ik W peaie s 3 e, prirted o writen, hits of papers, pages, mobibe phore,
e, Wy A, gempiten wem w {0 e wen electronie device or any othes matesial except the Admil
o) W @ B o T EaE W e T R Card inside the examination hall/ room.

15.mﬂq$m=’rﬂuﬂuawﬁmmm 15. Each candidate must show on demand his/her Admit
by o)) fmrd | Card (Roll No.) to the Invigilator.

16. & sdiwe m Thms @ few e ¥ few WE | 16, No candidate, without special permission of the

W T W Superintendent of Invigilator, should leave his/her seat.

17. Thepiie  wevafm oitwem o wwn i §) 17. Use of Electronic/ Manual Calculatar Is prohibited.

18, Pl orEm & whe g R TR T W W 6 1E.anannEl]wT=tB1}nkhtmdAmmr5}wﬂtiﬂﬂbl:
AT W W detached under any circumstances.

19, ohey o= B gv it me R S A 9w 10, On completion of the test, the candidate must hand over
e e i s o f ) el e W T the Answer Shest to the Invigilator In the Room/Hall
e gt @ & o wed § The candidates are allowed io take away this Test

Baakbet with them.

20, i 3w TR 3 = el & Ty Pife wem @fEm | 20, Since the time allotied to the three parts of this guestion-
¢ gefay gos afem wgwdm W o R v p:pﬁi:very]umlnd.ﬁushnuldmkcﬂﬂ'nﬂusEl}f'lt
oY WEA WET W WML | | by not spending too much lime on any quastian,




